



$$\begin{aligned} AC &= y \\ CH &= x \\ HO &= R - x \\ OD &= R \end{aligned}$$

$$\frac{MC}{MD} = \frac{HC}{HD}$$

$$\frac{y}{2R+y} = \frac{x}{2R-x} \rightarrow 2Ry - xy = 2Rx + xy$$

$$2R(y-x) = 2x+y$$

$$R = \frac{2x+y}{2(y-x)}$$

so this is

$$MO \cdot MH = AM^2 = MC \cdot MD$$

$$(R+y)(R+x) = y(2R+y)$$

$$Ry + y^2 + Rx + yx = 2Ry + y^2 \rightarrow \boxed{Rx(R+y) = Ry}$$

$$(AH = HB)$$

$$CH \cdot ND = AH^2 = MH \cdot HO$$

$$x(2R-x) = (x+y)(R-x)$$

$$2Rx - x^2 = xR + yR - x^2 - xy$$

$$\boxed{Rx = y(R-x)}$$

is a is alternative of this

$$\frac{Ry}{Rx} = \frac{x(R+y)}{y(R-x)} \rightarrow \frac{y^2}{x^2} = \frac{R+y}{R-x}$$

$$y^2 R - y^2 x = R x^2 + x^2 y$$

$$xy(x+y) = R(x^2 - y^2)$$

$$R = \frac{xy(x+y)}{(x-y)(x+y)} = \frac{xy}{x-y}$$

(s.s)  $\triangle AMO \sim \triangle HAO$

$$\frac{OH}{AO} = \frac{AO}{MO} \rightarrow AO^2 = a^2 = OH \cdot MO$$